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QUESTION 1

What is the difference between data and versioned data with the move edit to base option select when saving made in
the DEFAULT version? 

A. With versions data, the remain in the data tables. 

B. With versioned data move edits to base, the edits remain in the data tables. 

C. With versioned data, the ability to undo is NOT possible. 

D. With versioned data with move edits to base, the ability to undo is NOT possible. 

Correct Answer: B 

 

QUESTION 2

Who is the only user that can run the Create Role geoprocessing tool? 

A. Geodatabase administrator 

B. Data editor 

C. Data creator 

D. Database administrator 

Correct Answer: D 

 

QUESTION 3

Where can the special access the replica manager using ArcCatalog? 

A. The Database Connections 

B. The Distributed Geodatabase context menu 

C. The Administer Geodatabase windows 

D. The Database properties window 

Correct Answer: C 

 

QUESTION 4

A user in the accounting department needs to only view and query the Customer_Location feature class in the
goedatabse. The user can already lane a Database Connection will the operating system login, but CANNOT see any
data in the geodatabase. What is the recommended workflow to give the user the necessary access to the feature
class? 
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A. Have a data editor grant SELECT dataset the user the necessary access to the feature class 

B. Have a data editor grant SELECT, INSRT, UPDATE, and DELETE dataset privilege\\'s to the operating system login. 

C. have the data owner grant SELECT, dataset privileges to the operating system login. 

D. Have the data owner grant SELECT, INSERT, UPDATE, and DELETE database privileges to the Active Directory 

Correct Answer: A 

 

QUESTION 5

Every time a user adds a database view to the map document, the ArcGIS client prompts the user to 

specific a unique identifier and spatial reference. 

What could the geodatabase administrator do to prevent this prompt? 

A. Register the view as versioned 

B. Unregistered the view as versions 

C. Unregistered with the goedatabase 

D. Register the view with the geodatabase 

Correct Answer: B 

 

QUESTION 6

Which type of editing supports two-way geodatabase replication? 

A. Nonversioned 

B. Versioned 

C. Versioned with the move to base option 

D. SQL updates to the base tables 

Correct Answer: A 

 

QUESTION 7

A GIS administrator connects to a database as the data owner, and uses the ArchCatalog menu to enable the
enterprise goedatabase. The tool does NOT succeed. What does the administrator need to do to successfully run the
tool? 

A. Turn off 64 bit background geodatabase 

B. Connect as a user who does NOT own data in the database. 
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C. Connect as a user who qualifies as a goedatabase administrator 

D. Use the geoprocessing tool of the context menu 

Correct Answer: A 

 

QUESTION 8

An administrator creates a map service that performs quickly. When the text descriptions are added to the map, the
service draws slowly. What should the administrator implement to increase the performance of the map service? 

A. Annotation 

B. Maplex label engine 

C. Antialiasing 

D. Protection on the fly 

Correct Answer: B 

 

QUESTION 9

A company has a non-version class that contains 1 million rows. The information in the class needs to be 

replace with new information every month. The feature class is used in web services and has schema 

locks. 

Which workflow can the administrator use to update the feature class with the information/ 

A. Delete the feature class > Use conversion tools to create a new feature class 

B. Truncate the feature class > Append the new data into the feature class 

C. Delete the schema locks > Drop the feature class > Create a new feature class > Load the data 

D. Create a new feature class with the new data > Rename the feature class > Rename the new feature class 

Correct Answer: D 

 

QUESTION 10

A GIS assistant is creating a new one-way, parent-to-child replica 

There are 10 feature classes adds to ArcMap, and the Create Replica wired completes successfully. 

However only 8 feature classes were replicated to the child goedatabase. 

What should the GIS assistant confirm in the 2 missing feature classes before calling Esri Support? 
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A. The All Features option was used in the Create Replica wizard. 

B. The map document was NOT zoomed in to exclude the 2 feature classes. 

C. The feature classes are registered as version and have Global IDs. 

D. The connection between the parent and child is stable. 

Correct Answer: C 

 

QUESTION 11

Which user action will experience improved performance after a compress operation is completed in an geodatabase? 

A. Querying versioned data 

B. Creating new versions 

C. Querying nonversioned, archived data 

D. Creating attribute domains 

Correct Answer: C 

 

QUESTION 12

An empty table in a geodatabase has a field that is incorrectly defined as a numeric value field without 

decimal values. The attribute filed needs to store numeric values with decimal values within a specific 

range. 

Which tool or method should be used to updated the filed type? 

A. The Filed Calculator 

B. The Calculate Field tool 

C. The Alter Field tool 

D. The Transpose Filed tool 

Correct Answer: A 

 

QUESTION 13

A user published a feature service to ArcGIS Enterprise using data that is NOT registered with the 

geodatabase. When accessing the data online, the user notices that editing the feature service is NOT 

supported. 
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Which of the workflows explains why this would occur? 

A. The feature service was published will version data. 

B. The feature service was published with data. 

C. The feature service was published with operating system authentication. 

D. The feature service was published with a database view. 

Correct Answer: A 

 

QUESTION 14

Which option will improve performance hen drawing a map full extent? 

A. Scale dependency 

B. Attribute index 

C. Spatial index 

D. Relationships 

Correct Answer: B 

 

QUESTION 15

The goedatabase administrator disconnects to perform geodatabase maintenance operations. However, 

the map services automatically reconnected and prevent successful maintenance. 

What step is recommended? 

A. Delete all the database connections files for the map services 

B. Disconnects the map services connections 

C. Prevent the goedatabase from accepting connections 

D. Delete all transaction versions 

Correct Answer: C 
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